TCB Question and Answer:

TCB:

| see that the EUT is capable of supporting many antennas connected at once. Please confirm how
many antennas could be connected at one time. Please confirm if the transmission would be
emitting from each antenna at the same time. Please confirm if all antennas would need to be the
same type or if a mixture of antennas is possible. Please note that FCC Part 15.31(h) and ANSI C63.10
both state: If an intentional radiator incorporates more than one antenna or other radiating source
and these radiating sources are designed to emit at the same time, measurements of conducted and
radiated emissions shall be performed with all radiating sources that are to be employed emitting.

Nedap:

The antennas are not all switched on at the same time but are operating successively, so antenna
number 1 is switched on and number 2-8 are switched off, no 2 is on while 1 and 3-8 are off, etc.
The antennas that can be connected are mentioned in the test report.



